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Because of the embarrassment of the husband — byaT v

OVERVIEW

The Xn>>72 taught that if the husband told three people, ‘write a 3 and give it to my
wife’, the rule is that they should write it and give it to her; indicating that they
cannot appoint a 2w on their behalf. We see from here that one cannot appoint a
m5w in his place. »ax explained that the reason they cannot appoint a 9w to write
the v because this will cause embarrassment to the husband that he does not know
how to write a vi. He wants to limit the embarrassment to these three people, but
not to anyone else. M201n clarifies some difficulty with this interpretation.
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>"w1 explained the embarrassment, that it is the husband’s obligation to write
the w3, so he does not want that more people should know that he does not
know how to write the v:.

Moo responds to an anticipated difficulty:
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And this which the Xns"92 states 1n% 12n>s, it does not mean that they cannot
make a 9w for 7°n3; rather the Xn>12 added ne since it said an>s.

mooIn offers an alternate solution:
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Or you may also say; by appointing someone else to give the v3, this 7w will
sense that the husband did not write it, so therefore the husband is also
particular regarding the 7502,

mooIn challenges the whole concept of 2y 112
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Pypra o',

* The inference from the X012 was that since it says 110" 1202, this implies that they cannot make a m9w for either
the 712°n5 or the 7°n1. We explained why the 71205 should not be given over to others because of 5¥277 12, but why
do they have to give the v3, why can’t they appoint another m%w; there is (seemingly) no 7v277 1712 in this.

? The xn™12a begins by saying he told them 1m 1203, so in the conclusion he also mentions 1n°, but in truth the
inference that they cannot appoint a % is only for the 72°n3, but not for the 73n1. They may appoint a 7w for the
P na.

* The m>w wonders why they are giving him the v, to deliver; why not the husband. He will then surmise that the
husband did not write it, so there is 7¥27 11°12 (even) by the 7°ni. See (however) ‘Thinking it over’.

> According to this answer (as opposed to the previous answer) they cannot make a i*>w even for the 7i3°na.
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And if you will say, what embarrassment is there for the husband, since we the

mwn taught, ‘the wife may write her v3’° -
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It is therefore evident that it is not incumbent on the husband to write!

D50 answers:
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And one can say that really it is incumbent on the husband to write the v3 -
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Rather that 71wn of 121 N2> AWK is teaching us that even when the wife writes
the vi it is "w>, for she knows how to transfer the ownership of the v to her husband.

SUMMARY

We can either assume that there is no 7¥27 11°12 by 11n° (only by 12n3°), but we can
also assume that even by 1n° there is Pv277 1°12. The mwn of 7vX DR NAND AWK,
merely teaches us that she knows how to be 71pn, but not that she should write the
0.

THINKING IT OVER

Mmoo writes in the 1"%,'% that even by m1ni there is Y¥a7 1°12 (and therefore they
must deliver the Vi themselves). Why therefore does it state in the 7awn that he may
appoint another m>w; there will be 5v277 112 there as well?!"!

% Mmoo in the question assumed (perhaps) that 77u°3 NX nam> 7wKA means that she is obligated to write the v3.

" If it would be incumbent on the husband to write the v3, and he does not write it, but rather asks others to write it
for him, this implies that he does not know how to write a vx and that is S¥27 112, However, since it is not
incumbent upon the ¥ to write the v3, so when he asks others to write it, there is no shame.

® This does not mean that he must write it; obviously he can appoint a m5w to write it for him; however it is
preferable for the 5v2 to write it, and if he doesn’t, there is 5¥277 1112

? The v must belong to the husband and then he gives it to his wife, The 7wn teaches that we assume that a woman
knows how to transfer ownership, therefore she can write the 03 and transfer it to her husband so that it belongs to
him.

19 See footnote # 4.

' See 7"w 0" and mwn nbm.
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